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3-2.3

3-2.4
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3.2.5 A B

3.2.6 A B
R
Q:E.T.WO (3.2.6)
Q— (t/h);
W,—— (t/m’);
R—— W, (%)
R,— (%)
T—— (m’/h),
3.3
3317 A B y
3.3.2
3.3.2.1
3.3.2.2 .
3.3.2.3 ’
Y.=V.e NS K (3.3.2-1)



Y.— (t);

V,— (t/ );

N—— ;

S—— (%), 25%

~30% ;

K—— (%)

Y=Y, Ce (3.3.2-2)
1000000

Y.—— (t);

C— (mg/L), .
3.3.2.4 , 10%
~20% o
3.-3.2.5

(DA
. 0.10% 10 m*;
0.01% 100 m°,

3N~50% .

(2)B  .C D ;
50~200 m’;
5~20 m°,
B D 1~3 m’;
3 m’,
3-3.2.6 .
5L/m*; \ ,
V=¢+H-+F (3.3.2-3)
V— (m®) ;



3-3-3-1

3-3-3-3
3-3-3.4

3-3-3-95

10

Qi=2.1(u—u,)’

0.1~0.2;
(m)

(m?),

(kg/t «a);

(m/s),

(kg/h);

) erl

(m/s);

Gi=A<*B-dfh(1—n

(3.3.3-1)

(3.3.3-2)

(3.3.3-3)



A— 9%,

B—— (kg/h);

dfh—— (%)
/— (%)9

G,=2.80% +S% « B (3.3.3-4)

Gy—— (kg/h);

S% °
B—— (kg/h),

3.3.4 .
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5.1
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5-1.95 . ;

5.1.5.1
5.1.5.2

9

(1 3—4
Ay 9 500 m—~

1 000 m, ;

9

5.1.5.4

(2)

(3) . 3 .

3 , ;
(4) 500 m~1 000 m ;
(5) 50% :

5.1.5.3 ;

(1) ~ ~ :pH\
.COD,DO.SS, \ 5

(2)
Pb.Zn ,Cu.Cd.Hg

(D << Do
(2) GB 3838¢
)

5.1.5.9

14



ol O1 O O1 Ol

—_— —_—) —_— —_— —_—
.

(D

(2)

.61
. 6- 2
.6-3
. 6.4

(1)
(2)
(3)

— — —
. .
N —

5.2

15



5.2.2.2

(1) 5
(2) 5
(3)
5.2.3
% a0t %—%(DX%—%(DY%) =S, (5.2.3)
C——- ;
D,—— 5
Dy—— ;
u——x ;
vy ;
y—
5.2.4
5.2-4.1
o) —C CQ [ o )
C(x,y) Ch—FH@{ p 1E .
+exp[—“(2£;y)2” (5.2.4-1)
Clx,y)—(x,y) (mg/L);
Ty (m) ;
u (m/s);
Q—— (m’/s);
C,—— (mg/L);
C,— (mg/L);
H—— (m);
E,— (m®/s);
L — 5
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B—— (m),

Clary)=Cyt C,Q, {exp B ”?2 )+exp[u(2afy)z}
2H N 7E xu Ay e
o . 2
—I—exp[—u(ZB4E2i ») }} (5.2.4-2)
a (m),
5.2.4.2
B C,Q, s
C(x’q)_ch+H(ﬂqu)1/2 P 4qu’)
N2
=l 219
B Cpr B qz _(ZaHu—C])Z
CaD=0t g GE.o {exp 4qu) Fexp| AEa }}
. . 2
+exp[_<2Qh fEal’;“ ) }} (5. 2. 4-4)
e (m®/s);
q—— (m%/S),q:HMQU
H— (m) ;
S (m/s);
Eqi (m2/5>9
E,=HuE,;
Ey4 (m2/s)o
h.2.4.3
o K X €0 i
C(x,y)_exp Kl 8640071) {Ch+H(KE(1Xu)1/2 [GXP 4EyX)
N2
Fexp J“ig Xy) H} (5.2.4°5)
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2
C(x,y)=exp acd )

AE X

- X C,Q, [
Ky 86400u) {Ch+2H(WEyXu)1/Z exXp

a 2B—2a— y)’
+exp —uﬁ%ij) )+exp(_u( 4Ey;l( y)) }
(5.2.4-6)
kyi— (1/d),K,=3.960""",
5.2-4.4
o X ~ CPQP
Clrrg)=exp(—k, m{cﬁH(nquw
q° _ZQh_(]
[exp _4EqX +exp 1EX )}} (5.2.4-7)
B C,Q, ¢
C(l'aq)—eXp(_Kl 864—00 {Ch+2H(ﬁEqX)1/2[eXp 4EqXJ
~ (2aHu+q)* (_(ZQh—ZaHu—q)z) }
Texp 1E.X )*exp 1E.X }
(5.2.4-8)
h.2.4.5
dc dc Fc Fc
o, tu= =E, axz—}_Ex@_FSO (5.2.4-9)
EXA
5.2.5
J J J ) as,
§<H51)+£+ uHSHra— (UHS1)—8—(KXH g)
+8y(KXH aSl)"—Q Wi d S, (5.2.5)
t—— (min) ;
Ty (m);
S,—— SS (mg/L);
UV X\ (m/s);
Hi (m)9



Q— SS (t/h);

wW,—— (m/s);
d—
5.2-6
S(x,y)= ;j;Hexp gjgzz) (5.2.6)
S(xyy)—— SS (mg/L);
W—- (g/s);
u——- (m/s);
H—— x (m/s)
5.2 1
5.2-7-1 ;
(1) ;
(2)
5.2. 7.2 :
(1) ,  B/H<100
(Taylor) ., B/H>100 (Fischer)
(2) (Elder)
5.2.7-3
D,=5.93uxh="5.93n v g /h"" « |u| (5.2.7-1)
D,=5.93uyh=5.93n v g /h""  |v] (5.2.7-2)
UV X\ (m/s);
n o
5.2.8 Ry UV
3\ K..K,
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5.2.9
5.2.9.1

5.2.9.2

20



6. 1.
6. 1.
6. 1.
6. 1.
6. 1.
6. 1.
6. 1.
6. 1.
6. 1.
6. 1.
6. 1.

6- 1.

6 1

21



6-1.5.1

(1)

(2)
(3)
6-1.5.2

6-1.5.3

6-1.5.4

Yo
6-1.5-5
(D

(2)
(3)

6-1.5-6
(1
(2)
(3)
(4)
6-1.6
6-1.6-1
6-1.6.2
6-1.6-3
6-1.6-4
22
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(1)
(2)
(3)
6-1.6-5

6- 2 1

6-2.1.1

6-2.1.2
(1)
(2)
(3)
(4)

6- 2.2
6-2.2.1

6- 2

(m/s),

(6.2.2-1)

(6.2.2-2)
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6- 3

6. 3.1
6. 3.2
6-3.2.1
(1) 1l m/s
Y?
C<X’Y’Z):ZTEGGYGZ * exp _TO'%(,
Z—He)? 7+ He)?
jexp[ 22 e[ - 62D
C— (mg/m?®) ;
Q— (mg/s);
T (m/s);
Oy~07— (m) . (m),
HJ/T 2. 24 ) B
H.— (m),He=H-+AH;
H—— (m) ;
AH—— (m);
X— (m);
Y— (m);
Z— (m) ;
(2) 1 m/s ’
2 \ 1/2 8 1
C(R): ?) * TE? ¢ ol
RZJrﬁ - H?
— H? o y? . 1
(6.3.2-2)
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Cry— R (mg/mg);

R—— (m) ;
vV (o,=a' . a,—
7,
(3)
X 2
C<X,Y,z>=(21;;—5a>8@ . exp { Y? _(Vg ) Z_He) } (6.3.2-3)
a 20 20?7
Ve— (m/s),
2
ngﬁ;
d.o—— ;
g ;
e ;
a . (6.3.2)
(a) 6. 3. 2
(prm) 15~30 31~47 48~75 76~100
(pm) 22 38 60 85
(@) 0.8 0.5 0.3 0
6.3.2.2 :
Ri=Va* Ciyo (6.3.2-4)
Qi— \ 5
Vi— (m/s);
Cixyor (mg/m’),
6-3-2.3 o
2\ QL —H?
Ciyooy= P . Ue., * exp S )
P2
°Jp1/12_n°exp —ZPZ) «dP (6.3.2-5)
Q—— (mg/m * s);

P]gPZAPlzyl/GyaPZZYZ/ny Yl\Yz
25



P2 PZ
Jplexp — ) dP—

2
6-3.-2.4
0vo )~ (021 0720) Oy
(1) 0v0 070
L
é\Y()_m
H,
82()_2. 15
L—— (m);
H.—— (m) ,
(2) Ovo ~ 070
a
8Y()_m
b
8Z()_m
a (m);
b—— (m),
6-3.2.5
N 17 5
C= 20 20 20 20C, 0+ frintC,
C—— (mg/m?”) ;
ClekAP l ~J K
(mg/m?*)
Sk ! i K
N— 5
Co— (mg/m?*)
6.-3.3

26

»  (Ov+
52 5 8Y() > é\Z()

(6. 3.2-6)

(6.3.2-7)

(6. 3.2-8)

(6. 3.2-9)

(6. 3.2-10)



6-3-4
6-3-4. 1

6-3-4.2

6-3-4.3

6-3-4.4
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. _CODXN,XP,

6
1500 X 10 (7.1.5-1)
Ei 9E>1 9E<].
COD—— (mg/L);
Nii (mg/L),
Pi— (mg/L),
[/.7.5.2 . \ .
S
H=—2<Pi><Log2Pi> (7.1.5-2)
H— ;
Si ’
PiA l 9Pi:ni/N9 ;i
{ » N o
/-1.5.3 . .
7-1.6 .
[.2
[.2.1 . .
[.2.2 ,
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(.23
[.2.4

[-2.93

30



8- 1

) GB 12349¢

)

GB/T 14623

)

31



8. 2
8- 2.1 ;

8.2.2 A o
8-2.3 ;

8.2. 3.1

Lo=(L,) —20lgr—8—TL—N—AL  (8.2.3-1)

Lpy— (dBA) ;
(L,) —— (dBA) ;
r (m) ;
T —— (dBA);
N—— (dBA);
AL—— (dBA) .
8.2.3.2
Lo=(L,) +10- @[l . tan l) }—S—TL—N—AL(S. 2.3-2)
r 21
(L,) —— (dBA) ;
L—— (m),
8-2-3.3
<Lp>i:<LW>i+zo-g(é{})—m +AL  +AL  —13

(8.2.3-3)

L,=10+1g| D)10% % | —AL,—AL,  (8.2.3-4)
i—1

l , 8. 2.3-1

32



8. 2.3-1

(t) ¢ )
7.5 50
2.5~7.5 20~ 49
2.5 20
(L), i dB(A);
(L)——i dB(A) 3
(N i ¢ /h);
(Vo) i (Km/h);
AL i dB(A);
AL —— dB(A),
9883, 738, 508 .3
AL —— dB(A),
8.2.3-2 5
8. 2. 3-2
AL  dB(A)
0
1~2
AL —— dB
(A);
AL,——
dB(A),
8-2.3.4
L,=(L,),—10 « lg %—AL (8.3.2-5)
(L))o 7, ;
e (m);
AL—— dB(A).
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8.2.3.3

K
(La) =10 1g[ D110 (L) ] (8.3.2-6)
=1
(Laey) =10« 1g[10%" %’ 410" %2’ ] (8. 3.2-7)
(LAeq) - (dBA) H
(Lae) —— K
dB(A);
(Lae) —— dB(A);
Ki
8.2.4
8.2.4.1
8.2.4.2 ;
8-2-4.3

34



9-1.1

9.1.2

9-1.3

9.2.1

9.2.2

9.2.3

9.2.4

9.1

9.2

39



10. 0.1

10. 0. 2
10. 0. 3
10. 0.4

10.0-5

36

10



11. 1.
11.
11- 1.

20

11. 1.

11-1.

11

11
11

11

1

11

11-1

50 80% »

11.2
2.1 A

2.2
2.2.1

2:2.2

.2.2.3
11.

2.3

37



50 .
11. 2.4

11.2.5

11. 3.1
11. 3.2
11.3.2.1

11.3.2.2
11.3.2.3

38

11. 3

80% »

20



12.1.1
12.1.2
12.1.3
12.1.4
12.2.1 A

12.2.2 A

12.2.3 A

12

B

121

12.72

39



13.1-1

13.1.2
13-1.2.1

(1)
(2)
(3)

13-1.2.2
(1)
(2)
(3)
(4)
(5)

(6)
40

13

13.1



13.1.3

13-1.3- 1
13-1.3.2

13.
13.
13.
13.
13.
13.
13. 1.

13- 1.
13.
13- 1.
13- 1.

13.
13.1. 8.

13.1. 8.

—_— —_— _— A
. . . . . .

(1)

(2)

(3)

o1 o1 o &S B DS
oo

o O O
—_

41



13.2
13.2.17 A B

13.2.2

13.2.3

42
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10. 2
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D. (.1 .

D. (.2 .

D.0. 2.
(1)
(2)

(3)

(4)

D.0.2.2
(1)

2034
(2)

(3)

)

61



D. 0.3
D.0. 3.1

D.(0.3.2

(1)

(2)

(3)

D.0. 3.3
D. 0. 3-1

D. 0. 3-1

<100

=100

D.0.3.4 :
(1) D. 0. 3-2 3
D. 0. 3-2

(2) :
62



u=C N RS,
Q=u* A
(m/s);
(m®/s) ;
(m®) ;
(m),R=A,/p;
(m) ;
,C=1/n+ R"";

de+d (=) +dh+dh=0
28

(m);
(m);
(m),

oh

oh oh
5—‘—74 gc—’—g 5—0

du du du
§+v aﬂLg g—g@o—&)

(m);
(m*/s);

(m) ;
,Sf:nz ‘u‘/R4/3;

(D. 0. 3-1)
(D. 0. 3-2)

(D. 0. 3-3)

(D. 0. 3-4)

63



AR
ERET
IR R R Q| IZ
a5
20A
:—gSf—’—ileaXL—’—g(uq—u) (D. 0. 3-5)
q ’ ’ (mS/S);
A—r (m?*) ;
JA
Frea g |
B—— (m);
Z— (m);
Uy (m/s),
D.(0.3.5
(1) ;
(2) ;
(3) F.( )

aZ  I(Hu)  I(Hv)

:ng — + N =0 (D. 0. 3-6)
du dut u . u Nu'tv 2/ @ @
54—74%4—‘0@—][‘0 g g8x+$X(8x2+9y2)

+7:i0WcosQ/H
L AT P VA e .2 Fv | Fu
aTex vy T e e 8o, TG T
+7:0W?sinQ/H (D. 0. 3-7)

7— (m) ;

H—— (m);

h—— (m);

UV XY (m/s);

64



Vo— ;
f— af‘: Z.QSIngb;

At=min(Ax.Ay) /| vgH + v u*+v* |

At—— (S);

Axr Ay——x.y (m);
g (m/s?);
u——ux (m/s);

T R—Y (m/s),
D.(0.4

(D. 0. 3-8)

65



E. Q.1

(1)

(2)

(3)

E.(Q.2

66
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117
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7
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) ,
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70

10,11

12

13
A.B.C.E



1.0.1

1.0. 2

1.0.3

A

b3

)

113

)

300

<<

71



2.1.2
2.1.4
¢ )
(
2.2.1~2.2.3
2.3.3 A

72

b

B

2.1

2.2

2.3

30

{



2.4.1

2.4

73



31.1~3.1.4

3-2.1~3.2.3

3-2-6

R R,

3-3.1

3-3-2~3.3.95

9

3.3.2.5
73/78

74

3.2

3- 1

A

)

II

<<



4.1.1~4.2.1

75



-1.1~5.1.2
.1.4 113

.1.5
;s (4)

2.2

2.2

76

5.1

».GB 3097¢

Do
5.1.5.2 (5)
5.2
(Taylor)
E,=0.58h+0.00658 ghl
(m*/s);
(m);
(m*/s);

)

7 GB 8978
GB 3838(



(Fischer)

(Elder)

E,——

E,=0.6 vVghl

E.=5.93(ghl)"?
(m*/s),

7



6- 1
6-1.2
6-1-5
6- 2
6. 2.2
10 pm
10 pm
6.3
6-3-1~6.3.3 :
’ 30 m .
’ 10 t/h
’ 5~1O t/h
6-3-4 1

78



7-1.1

7.1.2

7-1.5

[.2.2

71

13 9

(7.1.5-2)

(.2

79



8. 1
8.1.4
§
8. 2
8. 2.1
8. 2.3 (8.2.3-1) “ (AL)”

80



9-1.1
)
9.1.2
9-1.3

)

9.2.2

9.2.3

9.2.4

(

9.1

<<

9.2

(

(

(

)

73/78

81



10. 0.1

10. 0-2~10-0- 5

82

10



11.1.1

11.2.1

11. 3.1

11. 2

11. 3

11

111

83



12

121

12.1.1~12.1.4

12.72
12.2.3 A

84



13

13- 1
13-1-1~13.1. 3 (
DA

> 21 ¢
s 28
)
B
13.1. 4

13.2
13.2.1~13.2. 4

1 ”»

85



